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Figure S1. Diagram of plots distribution and the description of the number of trees per hectare in the first and second thinning of each plot.
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[bookmark: _Hlk157520442]Figure S2.  Scatter plots between Cd values versus mechanical parameters for all thinning schemes evaluated.


[bookmark: _Hlk157520467]Figure S3. Scatter plots between Bdw values versus mechanical parameters for all thinning schemes evaluated.

[bookmark: _Hlk157520481]Figure S4. Scatter plot between the values of Bdw and Cd for all the thinning schemes evaluated.
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